B O G B W W e AW e Ml el R R YRR BRE TR S TR TR RS MR R R

B\Ap\r— cenTembpP {L\ 7

@ MUY 1001 g ® 3Am 1 222 y 1o ® dvyw1 2022, 18

h oy =) =y L 3 ¥
¢ ® Alez5) B =(020) QA x e = “0-7. 5\ = (-10,0,0)
L 000 §R=(0,2,9) .o
e LA YA i
» 0O E1 @J a1 20
% 2. '1 - —

Eu;?‘[f”i gml; z[m 0& [ -PJ} 3105([ 1’3
=) )«:!\\MU\ PR IAR AR U e R L\ J’QL-L %}

W s H?:f‘t 0 fim x=-2-t
N+2k =0 22 y=-3¢ 'y

1 0=

e & ol VR 2 R o4

=) 'i)\W\W-"—Z , EABA £a ‘5};,_:\’::;&‘

G w :E;'YA 9 «Z Ok ['— C ~A ~x 4 |- o -4 =% ’1 ‘l
Bi~4 -3 o 4 [d&o A { - =B 8- 4 1 7\& W L5 Bl T8 - S ‘
f#4{-4 © 1 © & ‘ O -3 4 -4 ¢ L9 © -5 &3
Li-4 =% o6 A )& L O- O & © 4 E;;L,_. (‘“FL:@,

) "lé\w. W+W =3 ‘ BA%A 24 v\‘f‘ \f":’ w i“ell%

AW 2 dw AW = dw W 4 quv{/ - J\\‘M th ToAnh e e;}
w i N ! f —
] 2, ;_ ?_ D Awy WAW = i_{

m—— e

u
r—"‘l
i
= By

Bl L@ ame) L= XS -4 X B b
o‘} L(x+X) = (xx¥) B~ £ (k1Y) D

=(NT4YT) O - (Eex v YY) S

= X - bR v YR - YD = LR LAY
2) LIAK) = (@R B~ b (hK) B = o (-t XeB) = ok LX)

=y U_.. 3@ OMMe ARUO




® c[42), 50311 513 e[S 0 e

WILAQLLUN
GrZN

(Q\b C‘A\e s 7\?,\*\( CL“’ %- Q’J% tpl*

Ry LY + 32 = o, ~1) X+274%%T © =
% vYazai=b T431+Eeb
X ¥ & mgn & [£= 2btc-o
2y x 2 = d -& -2t =420
st e e i o :
*f +52 ,EH’?— 1= Lb:\ub LC+28
+ 3 T 1L J,,J [2=20-2b-2¢-4) [T=-o+b+ced)
“4f =3% =& = C_"O\/‘r V= b-2042bt2Ctd - zb-C +&
2y + % =d €

X= Ot~ 20-2C~ 2d -éanrbbt6C+3d
L?(-:ﬁ?}v :"J-*-E TL\'CTA

< a\bCé\\ .-(’;z;wl«bx%c*% chs "»*’5; o~ 2b2c-d _szib:f'}_
— I o Q]
LLm;—\'_" ‘IL,‘ \.,—-:L Q\ [G ] 5 :a.j,g
, o ‘?z— o = 2 C‘l . -8 -4
o o ?*’* 8 TR ol % Bl W, £ &
LHE\:.[” 4][.0 _\ [ y % | =1 =4 \ = -J [«4 ’JL“ H -k \E
. e O
LHQ:{_ '11[ \ 23 -i\ i&\, LD A2
i -3 -8 -8 o7l
:'-—) EL‘S&::’ ‘j’ ": C; g 5
-2 -5 iy 1_
@ 2 4 0 A gy (O 4-x* X 4
Ga) = deb (A-AEY=[ 4 -> 4 O (AW .o M‘I Sl g
O A -\ A J+ \o_ A -x A
A O A +DW ©/- A © =A
o A e W | A=xt - 1-X e
ket O RS 4\=- A~k fedmeX | \
T i ot s S SRR D

2 (2212 (1-%)) = - (B N) =X () )=t
= [Ha(3) = A(A-Z)()ﬁr?«)L

A (A-2T)(A+2D) =0




Az L wpasesa c.evedvocT

R-2D) 8= O -2atb *d:=0
wi . 4.0 A o o -2bh4C =D
A w0 2 AP b ~LC 4= 0
o W R g o 1-C."?.<:\'-"'9_"‘"-
i et L D 4 L-24=0 BO0=0b S5lk=)

ek

4!
A
A
A

SN RN ST TR T Y Ay . -

2l Pzt -t A\ et
‘ Q (a4, A A\ e 9

4 E;:‘:' " é}:Q k?") 2A-Lhi+2-N-tt1 *”X“t"\ = ) @)Eﬁ -Qtfz_:ot]
' *

3 T3s 2 =0 A2hH+ A b-leAobin 4 =0 (D |35 -2+ -1=C &

_ ?( £i7g g, Kx("i:{: : “% J-f\} ~EQ = ( .':L;..) _2:_2 )’3>l\_

dRW=WRAW = J2 b B \m_z.z-_..,

,_‘.,;.‘} r
> QA= (A-1eatyAri-1 A-t-1)

i \ L‘% ey \5‘\"’?} -
' i R e
{ ¥ = y- & . . 4N
K . = = BT 1
1 z i -7

It 3
Bl e A w MERBTHO
dek A= dek B = Jet(-A) = (V' deL A = -deth = detA =0
g‘j CgeTQ TR BUMO  CYQROTHO
A WP A0 \BL40 \ch 40 = 0= |ABel =IALSIcl 40 @
- ~A - -4 o4 At e 5 - |
2) \N40,\B140 1c|=0 D 0= § K 0= " K\ape = € D C=0 iz
3! 3¢ 1 |
3 1A #0 \8\=0\ct 30 5o = Ko .z Kapcd =B D o ‘Z ‘
23 A 3 &
) \A\=0 |®1#0 ,\cl+0
At Act

- o

P P S L

. e ~4_ i
N o=oc s> apc w2 A D A=0 \‘1/




